

INTER PLANT/DEPOT AFLEWERINGSBEWYS/DELIVERY NOTE

<u>Versend vanaf/Sent from:</u> Paarl (Cellars) Posbus / P.O. Box 528 Paarl 7646	<u>Versend na/Send to:</u> Liquor Runner George 1 ABATOIR ROAD INDUSTRIAL AREA GEORGE	Warshay Investments Pty Ltd t/a Posbus / P.O. Box 528 Suider Paarl 7624 Tel: (021)8073900 Faks/Fax: (021)8073000	OVKWVment No / Document Nr: 80353239 Aankoopbest / Purchase Ord: 4500562139 Kliënt Best No / Cust Ord Nr: KWV Best No / Order Nr: Dok Datum / Doc Date: 23.04.2025 Bladsy / Page: 1
--	---	---	--



AFSKRIF / COPY

4900015395

Vragmotor / Truck:
Registrasie No / Registration Nr:

Item	Materiaal Beskrywing Material Description	Hoeveelheid Quantity	Bruto Gewig Gross Weight	Netto Gewig Net Weight	Volume m ³ Volume m ³	Stortmaat Liters Bulk Litres	Liter AA Litro AA
000001	700025733 () KWV 3YR BRANDY 12X750(S)3 LOC Batch Number : L25106/2	110.000 BOX	1.661 KG	990 KG	3.080	0.000	0.000
000002	700025664 () KWV CLAS ROSE 6X750(S) 2024 LOC Batch Number : L250435946	28.000 BOX	204.400 KG	126 KG	0.364	0.000	0.000
000003	700026861 () CIAO VODCANO 6(1X2L + TRAY)2 BIB LOC Batch Number : L25052	14.000 BOX	197.260 KG	166.600 KG	0.308	0.000	0.000
000004	700025659 () KWV CLAS MOSCATO 6X750(S) 2024 LOC Batch Number : 2509819577	28.000 BOX	204.400 KG	126 KG	0.364	0.000	0.000
000005	700025643 () KWV CLAS PETIT VER 6X750 2024 LOC Batch Number : 2509919584	5.000 BOX	36.250 KG	22.500 KG	0.060	0.000	0.000
Total Units							185.000 Units

Name: Abraham Date: 24/4/2025
 Sign: Abraham

AFLEWERINGSBEWYS
GOEDGEKEUR:

LANCE

INTER PLANT/DEPOT AFLEWERINGSBEWYS/DELIVERY NOTE

Client

<u>Versend vanaf/Sent from:</u> Paarl (Cellars) Posbus / P.O. Box 528 Paarl 7646	<u>Versend na/Send to:</u> Liquor Runner George 1 ABATOIR ROAD INDUSTRIAL AREA GEORGE	Warshay Investments Pty Ltd t/a Posbus / P.O. Box 528 Suiders Paarl 7624 Tel: (021)8073900 Faks/Fax: (021)8073000
 <p>KWV PROUD PIONEERS</p>		Document No / Document Nr: 80353409 Aankoopbest / Purchase Ord: 4500562251 Kliënt Best No / Cust Ord Nr: KWV Best No / Order Nr: Dok Datum / Doc Date: 23.04.2025 Bladsy / Page: 1
AFSKRIF / COPY		

Vragmotor / Truck:
Registrasie No / Registration Nr:

49000153916

Item	Materiaal Beskrywing Material Description	Hoeveelheid Quantity	Bruto Gewig Gross Weight	Netto Gewig Net Weight	Volume m ³ Volume m ³	Stortmaat Liters Bulk Litres	Liter AA Litres AA
000001	700026646 (000000000901512) RED HEART RUM ORIGINAL 12X750(S)6 LOC Batch Number : L25099	110.000 BOX	1.666.500 KG	932.580 KG	2.860	0.000	0.000

CONTAINER NFORMATION:

Packing Carrier Seal No : 1544061-4070 1544071-4080 1544081-4090
 Packing Seller Seal No : 1544091-4100 1544101-4110 1544111-4120
 Container Number : JBG 387 FS JBD 594 FS JBD 595 FS
 Additional Information : LR TRANSPORT

Name: Abram Date: 24/4/2025
 Sign: [Signature]
 AFLEWERINGSBEWYS
 GOEDGEKEUR: LANCE

INTER PLANT/DEPOT AFLEWERINGSBEWYS/DELIVERY NOTE

<p><u>Versend vanaf/Sent from:</u></p> <p>Paarl (Cellars) Posbus / P.O. Box 528 Paarl 7646</p>	<p><u>Versend na/Send to:</u></p> <p>Liquor Runner George 1 ABATOIR ROAD INDUSTRIAL AREA GEORGE</p>	<p>Warshay Investments Pty Ltd t/a Posbus / P.O. Box 528 Suider Paarl 7624</p> <p>Tel: (021)8073900 Faks/Fax: (021)8073000</p>
 <p>KWV PROUD PIONEERS</p>		<p><u>Document No / Document Nr:</u> 80353239 <u>Aankoopbest / Purchase Ord:</u> 4500562139 <u>Kliënt Best No / Cust Ord Nr:</u> <u>KWV Best No / Order Nr:</u> <u>Dok Datum / Doc Date:</u> 23.04.2025</p> <p><u>Bladsy / Page:</u> 2</p>
<p>AFSKRIF / COPY</p>		

Vragmotor / Truck:
Registrasie No / Registration Nr:

CONTAINER INFORMATION:

Packing Carrier Seal No : 1544061-4070 1544071-4080 1544081-4090
 Packing Seller Seal No : 1544091-4100 1544101-4110 1544111-4120
 Container Number : JBG 387 FS JBD 594 FS JBD 595 FS
 Additional Information : LR TRANSPORT

STOCK PICKING LIST / VOORRAADUITHAALLYS

Faktureer / Bill-to:	Versend na / Ship-to:	Warshay Investments Pty Ltd t/a
50001 Liquor Runner George GEORGE	Liquor Runner George GEORGE	Aankoopbest / Purchase Ord: 4500562141 Kliënt Best No / Cust Ord Nr: KWV Best No / Order Nr: Dok Datum / Doc Date: 16.04.2025
AFSKRIF / COPY		Rekening No / Account No.: 50001 Fairtrade: FLO-ID 28503 Bladsy / Page: 1
<small>Registered with the National Liquor Authority as a manufacturer and distributor of liquor - Reg. No. RG0000668</small>		



Versend vanaf (Depot) / Despatched from (Plant):
KWV Local distribution

Bestemming / Destination:
Liquor Runner George

Vragmotor / Truck:
Registrasie No / Registration Nr:

4900015397

Item	Material Beskrywing Material Description	Hoeveelheid Quantity	Bruto Gewig Gross Weight	Netto Gewig Net Weight	Volume m ³ Volume m ³	Stortmaat Liters Bulk Litres	Liter AA Litre AA
000001	700024490 KWV 10YR BRANDY 12X750(S) LOC Storage Location : George Alcohol % Obscuration :	50,000 BOX	826.500 KG	425 KG	1.450	450.000	171.945
000002	700025731 KWV 5YR BRANDY 12X750(S)3 LOC Storage Location : George Alcohol % Obscuration :	55,000 BOX	830.500 KG	495 KG	1.540	495.000	213.890
000003	700024478 ROOD 6X750 2023 SLOC Storage Location : George Alcohol % Obscuration :	112,000 BOX	1.030.400 KG	504 KG	1.568	504.000	213.890
000004	700026438 WILD AFR CR 17% 12X750(S)7 LOC Storage Location : George Alcohol % Obscuration :	55,000 BOX	956.065 KG	524.700 KG	1.650	495.000	84.150
000005	700025233 HOECH BLAST B/CURRANT 4(6X275) LOC Storage Location : George Alcohol % Obscuration :	78,000 BOX	920.400 KG	514.800 KG	1.560	514.800	21.622

Liquor Runner George

24/04/2025

LANCE

STOCK PICKING LIST / VOORRAADUITHAALLYS

Faktureer / Bill-to:	Versend na / Ship-to:	Warshay Investments Pty Ltd t/a	Document No / Document Nr: 80353240
	50001 Liquor Runner George GEORGE	Posbus / P.O. Box 528 Suider Paarl 7624 Tel: (021)8073900 Faks/Fax : (021)8073000	Aankoopbest / Purchase Ord: 4500562141
	AFSKRIF / COPY	Cpy Reg. No. 2012/018792/07 Vat No. : 4110261833 Registered with the National Liquor Authority as a manufacturer and distributor of liquor - Reg. No. RG0000668	Kliënt Best No / Cust Ord Nr: KWV Best No / Order Nr: Dok Datum / Doc Date: 16.04.2025
Versend vanaf (Depot) / Despatched from (Plant): KWV Local distribution			Rekening No / Account No.: 50001 Fairtrade: FLO-ID 28503 Bladsy / Page: 2

Bestemming / Destination: Liquor Runner George
Vragmotor / Truck:
Registrasie No / Registration Nr:

Item	Material Beskrywing Material Description	Hoeveelheid Quantity	Bruto Gewig Gross Weight	Netto Gewig Net Weight	Volume m ³ Volume m ³	Stortmaat Liters Bulk Litres	Liter AA Litre AA
000006	700025301 HOECH BLAST P/FRUIT 4(6X275) LOC Storage Location : George Alcohol % Obscuration :	78.000 BOX	920.400 KG	528.528 KG	1.560	514.800	21.622
000007	700025631 KWV CLAS MERL 6X750 2024 LOC Storage Location : George Alcohol % Obscuration :	56.000 BOX	406 KG	252 KG	0.672	252.000	21.622
000008	700026345 CIAO COSMO 6X2000(2) BIB LOC Storage Location : George Alcohol % Obscuration :	28.000 BOX	364 KG	333.200 KG	0.560	336.000	19.824
000009	700026230 CIAO PINA COLADA 6X2000 BIB LOC Storage Location : George Alcohol % Obscuration :	28.000 BOX	364 KG	333.200 KG	0.560	336.000	19.824
000010	700024885 HOECH BLAST APPLE 4(6X275) LOC Storage Location : George Alcohol % Obscuration :	26.000 BOX	306.800 KG	171.600 KG	0.520	171.600	7.207

STOCK PICKING LIST / VOORRAADUITHAALLYS

Faktureer / Bill-to:	Versend na / Ship-to:	Document No / Document Nr: 80353240
50001 Liquor Runner George GEORGE	Liquor Runner George GEORGE	Aankoopbest / Purchase Ord: 4500562141
AFSKRIF / COPY		Kliënt Best No / Cust Ord Nr:
		KWV Best No / Order Nr:
		Dok Datum / Doc Date: 16.04.2025
		Rekening No / Account No.: 50001
		Fairtrade: FLO-ID 28503
		Bladsy / Page: 3



Warshay Investments Pty Ltd t/a
 Posbus / P.O. Box 528
 Suider Paarl
 7624
 Tel: (021)8073900
 Faks/Fax : (021)8073000
 Cpy Reg. No. 2012/018792/07
 Vat No. : 4110261833
 Registered with the National Liquor Authority as a manufacturer
 and distributor of liquor - Reg. No. RG0000668

Versend vanaf (Depot) / Despatched from (Plant):
 KWV Local distribution

Bestemming / Destination:
 Liquor Runner George

Vragmotor / Truck:

Registrasie No / Registration Nr:

Item	Material Beskrywing Material Description	Hoeveelheid Quantity	Bruto Gewig Gross Weight	Netto Gewig Net Weight	Volume m ³ Volume m ³	Stortmaat Liters Bulk Litres	Liter AA Litre AA
000011	700025796 FRUIT LAGOON MANGO 6X750(S)3 NP LOC Storage Location : George Alcohol % Obscuration :	24.000 BOX	215.040 KG	108 KG	0.336	108.000	7.207
000012	700026637 PBAY SMOOTH RED 4X3000 BIB ALOC Storage Location : George Alcohol % Obscuration :	15.000 BOX	195 KG	180 KG	0.285	180.000	7.207
000013	700025816 PADDY IRISH WHISKEY 12X750(S) LOC Storage Location : George Alcohol % Obscuration :	14.000 BOX	210.140 KG	118.818 KG	0.406	126.000	54.180
000014	700026502 KWV CLAS CHBL 6X750(S) 2024 NT LOC Storage Location : George Alcohol % Obscuration :	28.000 BOX	204.400 KG	126 KG	0.364	126.000	54.180
000015	700025663 KWV CLAS CHAR 6X750(S) 2024 LOC Storage Location : George Alcohol % Obscuration :	28.000 BOX	204.400 KG	126 KG	0.364	126.000	54.180

STOCK PICKING LIST / VOORRAADUITHAALLYS

Faktureer / Bill-to:	Versend na / Ship-to:	Warshay Investments Pty Ltd t/a	Document No / Document Nr: 80353240
50001 Liquor Runner George GEORGE	Liquor Runner George GEORGE	Posbus / P.O. Box 528 Suider Paarl 7624 Tel: (021)8073900 Faks/Fax : (021)8073000	Aankoopbest / Purchase Ord: 4500562141 Kliënt Best No / Cust Ord Nr: KWV Best No / Order Nr: Dok Datum / Doc Date: 16.04.2025
AFSKRIF / COPY		Cpy Reg. No. 2012/018792/07 Vat No. : 4110261833 Registered with the National Liquor Authority as a manufacturer and distributor of liquor - Reg. No. RG0000668	Rekening No / Account No.: 50001 Fairtrade: FLO-ID 28503
			Bladsy / Page: 4

Versend vanaf (Depot) / Despatched from (Plant):
KWV Local distribution

Bestemming / Destination:
Liquor Runner George

Vragmotor / Truck:

Registrasie No / Registration Nr:

Item	Material Beskrywing Material Description	Hoeveelheid Quantity	Bruto Gewig Gross Weight	Netto Gewig Net Weight	Volume m ³ Volume m ³	Stortmaat Liters Bulk Litres	Liter AA Litre AA
000016	700025630 KWV CLAS PINO 6X750 2024 LOC Storage Location : George Alcohol % Obscuration :	28,000 BOX	229.600 KG	126 KG	0.392	126.000	54.180
000017	700026174 KWV CLAS SHIR 6X750 (3) 2023 LOC Storage Location : George Alcohol % Obscuration :	28,000 BOX	229.600 KG	126 KG	0.392	126.000	54.180
000018	700024645 LAB MERL 6X750(S) 2023 SLOC Storage Location : George Alcohol % Obscuration :	28,000 BOX	204.400 KG	126 KG	0.364	126.000	54.180
000019	700026350 LAB CAP CLAS BRUT 6X750 NV UL0C Storage Location : George Alcohol % Obscuration :	22,000 BOX	159.500 KG	99 KG	0.264	99.000	54.180
000020	700025600 LAB CHBL 6X750(S) 2024 SLOC Storage Location : George Alcohol % Obscuration :	28,000 BOX	204.400 KG	126 KG	0.364	126.000	54.180

STOCK PICKING LIST / VOORRAADUITHAALLYS

Faktureer / Bill-to: 50001 Liquor Runner George GEORGE		Versend na / Ship-to: 50001 Liquor Runner George GEORGE		 <p>KWV ESTABLISHED 1918</p> <p>Registered with the National Liquor Authority as a manufacturer and distributor of liquor - Reg. No. RG0000668</p>		Warshay Investments Pty Ltd t/a Posbus / P.O. Box 528 Suider Paarl 7624 Tel: (021)8073900 Faks/Fax : (021)8073000 Cpy Reg. No. 2012/018792/07 Vat No. : 4110261833		80353240 Aankoopbest / Purchase Ord: 4500562141 Kliënt Best No / Cust Ord Nr: KWV Best No / Order Nr: Dok Datum / Doc Date: 16.04.2025 Rekening No / Account No.: 50001 Fairtrade: FLO-ID 28503	
AFSKRIF / COPY				Bladsy / Page: 5		Vragmotor / Truck:		Registrasie No / Registration Nr:	
Versend vanaf (Depot) / Despatched from (Plant): KWV Local distribution				Bestemming / Destination: Liquor Runner George					
Item	Material Beskrywing Material Description	Hoeveelheid Quantity	Bruto Gewig Gross Weight	Netto Gewig Net Weight	Volume m ³ Volume m ³	Stortmaat Liters Bulk Litres	Liter AA Litre AA		
000021	700026471 ANNABELLE CUVÉE ROSE 6X750(4) LOC Storage Location : George Alcohol % Obscuration :	22,000 BOX	213.400 KG	99 KG	0.352	99.000	54.180		
000022	700026550 ANNABELLE CUVÉE BLANCHE 6X750 NT LOC Storage Location : George Alcohol % Obscuration :	22,000 BOX	212.190 KG	97.218 KG	0.352	99.000	54.180		
000023	700026443 KWV VS BRANDY 6(1X750) LOC Storage Location : George Alcohol % Obscuration :	20,000 BOX	156.300 KG	85.640 KG	0.340	90.000	36.000		
000024	700026541 HOOGH HOWLER BOOST 6X750(S) LOC Storage Location : George Alcohol % Obscuration :	21,000 BOX	178.122 KG	102.249 KG	0.273	94.500	18.900		
000025	700025328 ROOD BLACK 6X750 2022 LOC Storage Location : George Alcohol % Obscuration :	21,000 BOX	181.881 KG	94.500 KG	0.273	94.500	18.900		

STOCK PICKING LIST / VOORRAADUITHAALLYS

Faktureer / Bill-to:		Versend na / Ship-to:		Warshay Investments Pty Ltd t/a Posbus / P.O. Box 528 Suider Paarl 7624 Tel: (021)8073900 Faks/Fax : (021)8073000		AWMment No / Document Nr: 80353240 Aankoopbest / Purchase Ord: 4500562141 Kliënt Best No / Cust Ord Nr: KWV Best No / Order Nr: Dok Datum / Doc Date: 16.04.2025	
50001 Liquor Runner George GEORGE		AFSKRIF / COPY		Cpy Reg. No. 2012/018792/07 Vat No. : 4110261833 Registered with the National Liquor Authority as a manufacturer and distributor of liquor - Reg. No. RG0000668		Rekening No / Account No.: 50001 Fairtrade: FLO-ID 28503 Bladsy / Page: 6	
Versend vanaf (Depot) / Despatched from (Plant): KWV Local distribution				Bestemming / Destination: Liquor Runner George			
Item	Material Beskrywing Material Description	Hoeveelheid Quantity	Bruto Gewig Gross Weight	Netto Gewig Net Weight	Volume m ³ Volume m ³	Stortmaat Liters Bulk Litres	Liter AA Litre AA
000026	700022639 PONCHOS TEQ CARAMEL 6X750(2) LOC Storage Location : George Alcohol % Obscuration :	10.000 BOX	89.200 KG	45 KG	0.120	45.000	15.750
000027	700026514 CRUX GIN BL WINTER TRUFF 6X750(S) NT LOC Storage Location : George Alcohol % Obscuration :	8.000 BOX	58.608 KG	33.952 KG	0.120	36.000	15.556
000028	700026306 KWV SPARK BRUT ROSE 6X750 SLOC Storage Location : George Alcohol % Obscuration :	5.000 BOX	42.075 KG	22.095 KG	0.085	22.500	15.556
000029	700022282 KWV 15YR BRANDY 6(1X750) NP LOC Storage Location : George Alcohol % Obscuration :	4.000 BOX	42.444 KG	18 KG	0.076	18.000	6.878
000030	700024874 KWV 20YR VIN 6(1X750)(7) LOC Storage Location : George Alcohol % Obscuration :	1.000 BOX	13.462 KG	4.500 KG	0.042	4.500	1.720

STOCK PICKING LIST / VOORRAADUITHAALLYS

Faktureer / Bill-to:	Versend na / Ship-to:	Warshay Investments Pty Ltd t/a
50001 Liquor Runner George GEORGE	Liquor Runner George GEORGE	Posbus / P.O. Box 528 Suider Paarl 7624 Tel: (021)8073900 Faks/Fax : (021)8073000
AFSKRIF / COPY		80353240 Aankoopbest / Purchase Ord: 4500562141 Kliënt Best No / Cust Ord Nr: KWV Best No / Order Nr: Dok Datum / Doc Date: 16.04.2025
		Rekening No / Account No.: 50001 Fairtrade: FLO-ID 28503 Bladsy / Page: 7

Versend vanaf (Depot) / Despatched from (Plant):
KWV Local distribution

Bestemming / Destination:
Liquor Runner George

Vragmotor / Truck:
Registrasie No / Registration Nr:

Item	Material Beskrywing Material Description	Hoeveelheid Quantity	Bruto Gewig Gross Weight	Netto Gewig Net Weight	Volume m ³ Volume m ³	Stortmaat Liters Bulk Litres	Liter AA Litre AA
000031	700024713 DR CHARL NIEH ROOD 6X750 2021 SLOC Storage Location : George Alcohol % Obscuration :	3,000 BOX	28.140 KG	13.500 KG	0.045	13.500	1.720
000032	700023907 CATH TRIPT 6X750 2022 SLOC Storage Location : George Alcohol % Obscuration :	2,000 BOX	14.500 KG	9 KG	0.024	9.000	1.720
000033	700024719 CATH CABS 6X750 2022 SLOC Storage Location : George Alcohol % Obscuration :	2,000 BOX	18.400 KG	9 KG	0.028	9.000	1.720
000034	700027008 CATH SABL 6X750(S)2 2023 SLOC Storage Location : George Alcohol % Obscuration :	2,000 BOX	17.600 KG	9 KG	0.026	9.000	1.720
000035	700024702 CATH SHIR 6X750 2021 SLOC Storage Location : George Alcohol % Obscuration :	2,000 BOX	16.400 KG	9 KG	0.028	9.000	1.720

STOCK PICKING LIST / VOORRAADUITHAALLYS

Faktureer / Bill-to:	Versend na / Ship-to:	Document No / Document Nr: 80353240
50001 Liquor Runner George GEORGE	Liquor Runner George GEORGE	Aankoopbest / Purchase Ord: 4500562141
AFSKRIF / COPY		Kliënt Best No / Cust Ord Nr:
		KWV Best No / Order Nr:
		Dok Datum / Doc Date: 16.04.2025
		Rekening No / Account No.: 50001
		Fairtrade: FLO-ID 28503
		Bladsy / Page: 8

Warshay Investments Pty Ltd t/a
 Posbus / P.O. Box 528
 Suider Paarl
 7624
 Tel: (021)8073900
 Faks/Fax : (021)8073000
 Cpy Reg. No. 2012/018792/07
 Vat No. : 4110261833
 Registered with the National Liquor Authority as a manufacturer
 and distributor of liquor - Reg. No. RG0000668

Item	Material Beskrywing Material Description	Hoeveelheid Quantity	Bruto Gewig Gross Weight	Netto Gewig Net Weight	Volume m ³ Volume m ³	Stortmaat Liters Bulk Litres	Liter AA Litres AA	
000036	700024725 CATH PINO 6X750 2022 SLOC Storage Location : George Alcohol % Obscuration :	2.000 BOX	16.400 KG	9 KG	0.028	9.000	1.720	
000037	700024643 CATH CHAR 6X750 2023 SLOC Storage Location : George Alcohol % Obscuration :	2.000 BOX	17.100 KG	9 KG	0.028	9.000	1.720	
000038	700025662 KWV CLAS GREN BL 6X750 (S) 2024 LOC Storage Location : George Alcohol % Obscuration :	2.000 BOX	14.600 KG	9 KG	0.026	9.000	1.720	
Total Units		960.000						Units

Bestemming / Destination:
Liquor Runner George

Vragmotor / Truck:

Registrasie No / Registration Nr:

CONTAINER INFORMATION:
 Packing Carrier Seal No : 1544061-4070 1544071-4080 1544081-4090
 Packing Seller Seal No : 1544091-4100 1544101-4110 1544111-4120
 Container Number : JBG 387 FS JBD 594 FS JBD 595 FS
 Additional Information : LR TRANSPORT

LIQUOR RUNNERS

DCA GOODS RECEIVED VOUCHER

To be completed on receipt of goods from producers, Truckdrivers or Warehouse
12365

DRIVER NAME & NUMBER: *Abraham*

HIRE TRANSPORTATION CO. (if delivered by Hire Vehicle)		LOAD SHEET No.
VEHICLE REG. No. <i>458ca387fs</i>		

CUSTOMER <i>KW V</i>	SUPPLIERS PACKING SLIP No.	DATE RECEIVED <i>25/04/2025</i>
----------------------	----------------------------	---------------------------------

DESCRIPTION	PRODUCT CODE	RECEIVED		REMARKS
		Cases	Units	
RECEIVED	Cases	Units	Damaged	Damaged
Units	Received	Units	Received	Units
1) Special's Received				
2) But not yet				
3) checked				
4)				
5)				
6)				
7)				
8)				
9)				
10)				
11)				
12)				
13)				
14)				
15)				
16)				
17)				
18)				
19)				
20)				
TOTAL:				
PALET CONTROL:		GKN #1	Blue	
OTHER		GKN #2	Blue	

NOTES: 1. ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED
 2. REFER TO PROCEDURE MANUAL GOODS RECEIVED NOTES - DCA RETURNS

CHECKED ON RECEIPT BY: *[Signature]*
 DRIVER: *[Signature]*
 PAGE: _____
 TIME COMPLETED: _____

Abbatoir Road
George Industria
George
6530



Abbatoir Road
George Industria
George
6530
044 874 3241
Http://www.lrsa.co.za

jeremy@lrsa.co.za

GRV for KVV (PTY) LTD - LRSA NR: 4428 (GRV)

Receiver: SN XEGO

Checker: G NCOBO

Warehouse KVV PAARL

Sender Ref 1: 80353240

WarehouseRecv: LR GEORGE

Sender Ref 2: 12365

Receive Date: 2025-04-25

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
----------	-------------------	-----	--------------	------------	------------

Stock Received

70026637	PEARLY BAY SMOOTH RED (4 X 3L)			15	60
70026345	CIAO COSMO (6 X 2L)			28	168
70026230	CIAO PINA COLADA (6 X 2L)			28	168
70025643	KVV CLAS PETIT VER 2025 LOC 2024(6 X 750ML			5	30
70025664	KVV CLAS ROSE 2024 (6 X 750ML)			28	168
70025659	KVV CLAS MOSCATO 2024 (6 X 750ML)			28	168
70025663	KVV CLAS CHAR 2024 (6 X 750ML)			28	168
70026502	KVV CLASSIC CHENIN BLANC (6 X 750ML)			28	168
70024645	LABORIE MERLOT 2023 (6 X 750ML)			28	168
70025600	LAB CHBL 2024 (6 X 750ML)			28	168
70022282	KVV 15YEAR BRANDY (6 X 750ML)(NEW) STD			4	24
70026514	GRUXLAND BLACK WINTER TRUFFLES (6 X 750M			8	48
70024713	ROODEBERG DR CHARLES NIEHAUS (6 X 750ML)			3	18
70024874	KVV 20YEAR VIN 6X 750ML LOC			1	6
70025631	KVV CLASSIC MERLOT			56	336
70025630	KVV CLASSIS PINOTAGE (6 X 750ML)			28	168
70026174	KVV CLASS SHIRAZ (6 X 750)			28	168
70024643	CATHERAL CHARDONAY 2023 (6 X 750ML)			2	12
70024702	CATH SHIRAZ 2021 (6 X 750ML)			2	12
70023734	KVV CLASSIC GRENACHE BLANC 2022			2	12
70024719	CATHERAL CELLARS CAB SAUV (6 X 750ML)			2	12
70023907	CATH TRIPT 2022 (6 X 750ML)			2	12
70027008	CATH SABL 2023 (6 X 750ML)			2	12
70024725	CATHERAL CELLAR PINOTAGE (6 X 750ML)			2	12
70025796	FRUIT LAGOON MANGO DAQUIRI (6 X 750ML)			24	144

(Handwritten signature)

Checked By:

Transport Company:

LR

Receiver:

JBG 387 GP

Checker:

ABRAM

Driver Signature:

25/04/2025 03:47:28 PM

Abbatoir Road
George Industria
George
6530



Liquor Runners

Abbatoir Road
George Industria
George
6530
044 874 3241
http://www.lrsa.co.za

GRV for KVV (PTY) LTD - LRSA NR: 4428 (GRV)

Receiver: SN XEGO
Checker: G NCOBO
Warehouse: KVV PAARL
Sender Ref 1: 80353240
Receive Date: 2025-04-25
WarehouseRecv: LR GEORGE
Sender Ref 2: 12365

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
----------	-------------------	-----	--------------	------------	------------

700024885	HOCH BLAST APPLE (24 X 275ML)			26	624
700026861	CIAO VODCANO (6 X 2L) BIB LOC			14	84
700026550	ANNABELLE CUVEE BLANCHE (6 X 750ML)			22	132
700026471	ANNABELLE CUVEE ROSE (6 X 750ML)			22	132
700026541	HOCH HOWLER BOOST GUARANA RASBERRY (6			21	126
700026306	KVV SPARK BRUT ROSE (6 X 750ML)			5	30
700022639	PONCHOS 1910 TEQ CARAMEL (6 X 750ML)			10	60
700026443	KVV SIGNATURE RELEASE VS BRANDY (6 X 750			20	120
700025328	ROODEBERG BLACK 2022 (6 X 750ML)			21	126
700026350	LABORIE CAP CLASSIQUE BRUT (6 X 750ML)			22	132
700024478	ROODEBERG RED (6 X 750ML)			112	672
700025301	HOCH BLAST PASSION FRUIT 24 X 275ML LOC			78	1872
700025233	HOCH BLAST BLACK CURRANT] 4 X 6 X 275ML			78	1872
700025816	PADDY IRISH WHISKEY (12 X 750ML)			14	168
700026646	RED HEART RUM ORIGINAL (12 X 750ML)			110	1320
700025733	KVV 3YR BRANDY (12 X 750ML)			110	1320
700025731	KVV 5 YEAR BRANDY (12 X 750ML)			55	660
700026438	WILD AFRICA CREAM LIQUEUR (12 X 750ML)			55	660
700024490	KVV 10YEAR BRANDY (12 X 750ML) NP LOC			50	600

Total QTY Received 1,255.00

13,140.00

Checked By:

Transport Company:

Receiver: JBG 387 GP

Checker: ABRAM

Driver Signature: _____

25/04/2025 03:47:28 PM